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4. A (2x+3y+1) - (2x+y-3) & ko] shH?

@® 2x+2y-3 @ 2x+2y+1 ® 2x+4
@2y+4 ® -3

(2x+3y+1)—-(2x+y-3)=2x+3y+1-2x—y+3=2y+4
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(a+b)? =a*+ 2ab + b?

(

b)? = a* - 2ab + b?

S

O o

® (a+b)(a-b)=a®-b>
@ (x+a)(x+b)=x*>+(a+b)x+ab
® (

ax + b)(cx + d) = acx?® + (ad + bc)x + bd

B

982 = (100 — 2)2
=100%2 — 2 x 2 x 100 + 22
= 10000 — 400 + 4
= 9604

(a-b)? = a® - 2ab + b*-& ©]-&olH Hr},




® 1 @ 2 ® 3 @)4 ® 5

A (2x)% x 3xy? = 12x3)2
© (4xy)? x (—2%2) — -8x
wfebA] Ade] e 12 1 (-8) = 4]k,
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DO x+2x+1
@ x2+3x-2
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10. x = -2y =3 LW 3xy(x - y) = (4x%)7 - 4y?) = 20y & F2
ToFH?
50 50 40 40 35
@3 @ 3 ® 3 @ —— ® 3
(F4]) = 3x2y — 3xy? — 2xy? + 2x%y
= 5x2y — 5xy?
1 }
x=-g, y=3=Hdtd
1 1 5 45 50
s (D) xacsx (L) o84 80
“\g/” “\73)*7 737373
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26 4 96 = 26 x 2 =27
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® n(a+b)(a+b)
® n(b-a)(b-a)
® n(a+b)(b-a)

B

@ n(a-b)(a->b)
@)r(a+b)(a-b)

(A 9] ol

<2a+2b)2x 1,
2

=S {@+b-a® +8%)

- g(2ab + 2b2)

= n(ab + b?)
(B 9] |el)
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{(a—l—b)2 +a? —b2}

(2ab + 24?)

3 N

(ab + a*
- A

[

oo}

(@ - ?)
(a=b)(a+b)

2a+2b\?% 1 1 1
:7T< @ )x—+7ra2><——7rb2><—
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n(ab + a*) — n(ab + b?)




14. 3% 27 =81% & W=E3}= x 9 ghe?

@ 3 @ 4 ® 6 @9

® 12

3" x 27 =3"x 3% =3 = (3%)3 = 312 =813
3x+3:312 01"/\1 x+3:12

Lx=9




15.

(a+b+c—d)(-a+b+c+d)+(a+b-c+d)(a-b+c+d) &
A0Sk ?

D 2ad + 2bc @ 3ad + 3bc @4ad + 4bc

@ 3ad - 3bc ® 4ad - 4bc

B ~
(a+b+c—-d)(-a+b+c+d)+(a+b-c+d)(a—b+c+d)
={b+c)+(a-d)}H(b+c)-(a-d)}+{(a+d)+ (b-c){(a+
d) - (b-c))

=b+c)-(a-d)?*+(a+d)?-(b-c)?

= b? +2bc + ¢* —a® + 2ad — d® + a® + 2ad + d* — b* + 2bc — ¢*
= 4ad + 4bc




